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THIRD SEMESTER (SPECIAL REPEAT)
OBJECT ORIENTED PROGRAMMING WITH C++
BCA-301

(Use separate answer scripts for Objective & Descriptive)

Duration : 3 hrs. Full Marks : 70
( RART-A: Objective )

Time : 20 min. Marks : 20

Choose lh_c correct answeer from the following: 1X20=20

1. By default how the value are passed in c++?

!J

10.

a. call by value b. call by reference
c. call by pointer d. call by object
What is the size of empty class?

a 0 basl!

C. 12 d. 4

What is abstract class?
a. A class wilh abstract keyword b. A class with no lunctions in il
c. A class with atleast one pure virtual d. Empty Class

function

Which type is best suited to represent the logical values?
a. Integer b. Boolen
¢. Character d. All of the mentioned

How many class objects can be created of a class in C++?

a. 1 b. 5

c. No limit d. 256

Function overloading is also similar to which of the following?

a. Operator overloading b. Constructor overloading
¢. Destructor Overloading d. None of the mentioned
Where does the return statement returns the execution of the program?
a. main function b. caller function

¢. same function d. block function

When the inheritance is private, the private methods in base class are in the
derived class (in C++).

a. Inaccessible b. Accessible

c. Protected d. Public

Which of the following cannot be passed to the function in C++?

a. One b. Structure

c. Array d. Header file

C++ actually supports following two complete dynamic allocation systems:

a. One is defined by C++ and other not  b. One defined by C and one specific to
defined by CH+

c. Both are specific to C++ d. Both of them are improvement of C
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‘C++ programming
Explainit.
What is constru nd d Nrite the characteristics of

1 valud

business with stationary iten
with grocery items and cloths

ent his business model? What are th




